MODEL SOLVED PAPER

RBI OFFICER GRADE ‘B’ EXAM
Held on ¢ 18.12.2011 @ Based on Memory

GENERAL AWARENESS

(5) Indian economy has shown
a remarkable average GDP

2009 has proved a blessing in
disguise for India, as it inten-

1. Some time we see a reference growth of 6.8% during last sified the call in the country
of ‘Least Developed country' in ten years. for —
the economic journals/papers | 8. Who among the following is (1) Stronger police force
etc. Which among the follow- very closely associated with the {2) Faster legal proceedings
ing is one of the parameters on day to day functioning of the |- and effective judiciary
the basis of which’a country Reserve Bank of India ? (3) Greater Accounting trans-
in economic parlance, is. la- (1) Dr. Subir Gokarn . parency and Corporate
belled “Least Developed” ? (2) Mr. U. K. Sinha Governance
{1) Frequent changes in mon- (3) Dr. Kaushik Basu (4) Better employer employee
etary/fiscal policies (4) Mr. Narendra Jadhav relationship and active par-
“(2) No change in the Govern- | | (5) None of these  ticipation of employees in
ment in last ten years as | 4 cengygin India was conducted nanAgerial fracons
general elections did not recently (2011). In the eyes of (5) All of these
take place . .~ the economists and policy Frequent changes in the cost
{3) Low Per Capita income of a | makers, India's demographics of which of the following com-
specified level and instabil- are very much favourable to modities at international lev-
ity in agricultural/indus- growth. Which of the follow- els, push inflation upwards ?
trial production ing statements is NOT in con- (1) Vegetables
(4) Huge losses due to natural formity with the traditional (2) Foodgrains
disasters resulting in dis- demographic characterstics of (3) Petroleum Products
placement of people in ma- India and its relation with (4) MilK
Jority growth ? ' (5) All of these
(5) Scarcity of trained/skilled (1)India is a young country Indian Parliament in the year
. manpower in the country with low dependency ratio 2005 passed Special Economic
Which of the following state: [, . (2)More and more Indian Zones Bill which gave birth to
. ments about the Indian youth .under the age of 30 hundreds of SEZs in the coun-
Economy in the last decade is are getting better health try. How do these SEZs help
Not Correct ? care and access to quality in the growth of the Indian
{1) The economy of India is the ' technical education Economy ?
fourth largest in the world (3) The so called Middle class (1) SEZs attract stgnificant
with GDP of about 4 tril- of India is happy as they foreign direct investment
lion US $at Purchasing have better housing and from évérseas and MNCs
Power Parity (PPP). earning facilities (2) SEZs give a far better price
{2) Agriculture which was a {4) More employment opportu- for land to the farmers and
major concern for the nities and resultant finan- others who sell their land
- growth of the economy is cial freedom have made for the same
now growing at an average young women folk to pur- (3) Production in SEZs is done
of 7% per annum sue single life and delay for local consumption only
(3)A stx"ong Balance of Pay- marriage and is supposed to tame
ment (BOP) position in re- (5) Indian youth are now big- inflation in the country
cent years has resulted in gest consumers of luxuri- (4) Banks in India are allowed
a comfortable stock of the ous goods, they spend dis- " to give loans to SEZs liber-
foreign axcha.ngc reserves. cretionary income and en- ally as the interest rate on
{4) India has emerged as a glo- Joy the associated status. such loans is decided to be
" bal leader in software and { . . Some policy makers and think- ‘5% higher than the normal
businesg process. outsourc- ers are of the opinion that the interest rates
_ing. notorious Satyam Scandal of (5) All of these
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19,

20.

21.

22.

(3) Gross National Product
(GNP) ’

(4) Gross National Income
(GNI)

(5) Total collection of Direct
Taxes in a year

Which of the following acts is/

was introduced for the purpose

of sustainable growth ?

(1) Water (Prevention and Con-
trol of Pollution) Act

(2) Narcotics and Psychotropic

_Substance Act

(3) Foreign Exchange Manage-

ment Act

' (4) Banking Regulation Act

(5) Prevention of Money Laun-
dering Act

‘IAEA’ is an organization

which functions in the area of

(1) Prevention of Money Laun-
dering

(2) Control of Foreign Direct
Investment

(3) Nuclear Energy

(4) World Trade

(8) Promoting International
understanding among the
nations.

As reported in newspapers.

China has raised objection on

. India’'s presence in South

China sea alongwith Vietnam.
Both the nations are engaged
in which of the following ac-
tivities in the sea?

(1) Fishing 3

(2) Exploring Minerals

(3) Exploring Oilfields

(4) Disposal of electronic waste
(5) Disposal of nuclear waste
Which of the following is the

" purpose of introducing ‘Know

Your Customer’ norms by the

banks ?’

(1) To bring more and more
people under the bankmg
net.

(2) Identifylng people who do
not pay Income Tax

. (8) To ensure that the money

deposited in banks has
come from genuine sources

(4)To ensure whether the
money deposited in the
bank is of an Indian or a
foreign national

" (5) None of these

8. In economic terms, the ‘total | 14, Which one of the following a
market value of all final goods measure of Fiscal Reforms,
and services produced in a has Government of India
country in a given year is - adopted ?
known as____ (1) Bringing down fiscal deficit
(1) GNI (2) GDP to a particular level by ‘an
{3) Inflation  (4) PPP Act of Law
(5) Wealth of a nation (2) Fixing higher rate of growth
9. Which of the following is one (8) Allocation of more funds to
of the indicators of Human job oriented schemes
Development Index (HDI) ? (4) Allocation of more funds to
(1) Life expectancy at birth provide education to chil-
(2) Total cost of the agricul- dren who are 6-14 years of |.
tural land with a farnily age

(3) Total area of the agricul- (5) None of these
tural land with a family 15. ‘Green House Gases' are re-

(4) Availability of perennial sponsible mainly for'—
source of water for irriga- (1) Growth of Livestock popu-
tion lation

(5) Nature of employment, ca- (2) Volume of foreign trade
sual/permanent or semi- (3) Quality of agro products in
permanerit a country

10. Which of the following is one (4) Industria! Development of a
of the measures of economic nation
growth of a country ? (5) Global warming
(1) Volume of Direct Invest- | g  which of the following in In-

g;i:‘l: ﬂrer;ade by Foreign dia is implemented in all the
: districgs of the country for pro-
(2) Number of companies listed vldm;t 10%_ days er‘:lpl;yymcr}:t to
on the Stock Exchanges those willing to do manual jobs
{3) Gross Domestic product of in rural areas?
the nation ; (1) Pradhan Mantri Gram
(4) Number of Foreign nation- Sadak Yojana
als working in.a country (2) Bharat Nirman
- - {5) All of these (3) Mahatma Gandhi National

11. What is the contribution of . Rural Employment Guar-
Agricultural sector in total antee Act
GDP of India ? About— (4)Swarn Jayanti Gram
(1) 10% (2)24% Swarojgar Yojana
(3) 38% ) 40% . (5)All of these
(5) 60% 17. Which of -the following is a

12. What is the contribution of Social Development pro-
‘Service Sector in tot.al GDP of gramme launched by the Gov-
India ? ernment of India for school
(1) 10% (2) 14% children ?

(3) 18% (4) 26% (1) Bharat Nirman
(5) None of these - (2) ASHA
13. In India, the National Income (3) Kutir Jyoti
is measured on the basis of — s )
(4) Mid Day Meal Scheme
(1) Flow of goods only (5) Aadhar Yojfana
@ g:,’;be’ of employed youth | 1o (b of the following eco-
{3) Volume of tax collected per ?mcai?:?éﬁzt:tgﬂ?fuﬂ
o , or Capital Account or both ?
(4) Earning ‘of people working :
in PSUs and Government (1) Batance of payment
jobs (2) Value of the foodgrain stock
(5) Al of these of a country
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23. Which of the “following | 27. India recently entered into an | 33. Which of the following is a
organisations is established agreement to purchase LNG popular women's Empower-
mainly to promote Micro,, from some East Asfan Nations. ment Programme in India ?
Small & Medium industrial This is the part of India’s ini- (1) ASHA
sector in India ? tiative in the direction of — (2) Swabhiman
(1) NABARD  (2) SIDBI (1) Look East policy '

(3) IDBI Bank (4) EXIMBank | ' (2}Switch over to LNG (2] Z’;" D?;q?deal .

(5‘) T — (3) Business With Most (4) Bharat Nirman

Favoured Nations only (5) Self Help Group

24. Asreported in newspapers, the (4) Convention on Supplemen- | 34. We know that the Industrial

Market i f th e
arket Borrowings of the tal Compensation (CSC) sector plays an important role

Union Government have gone (5) New Business : New Part- in the development of India.
up in 2011-12 (upto Septem- ners Scheme Which sector does not come
ber 2011). What is the main | 9g.  Ag per recent reports the Coal under Industrial sector ?
reason for the SELG ? Ministry of India has allocated (1) Mining
(1) Fixing very high target of certain coal blocks to four (2) Manufacturing

growth ; NTPC Thermal Power Plants in (3) Banking
(2) Lower than budgeted collec- four states. Which of the fol- (4) Utilits
tion of the revenue lowing states is NOT among (4) Utilities
(3) Lower than expected flow of these four states ? {6, Construction
foreign investment (1) Uttar Pradesh 38. Who among the following is
(4) RBI's reluctance in giving (2) Karnataka (3) Orissa one-of the Deputy Qgyemors
fresh loans to the Govern- (4) Madhya Pradesh of the RBL 7
ment of India for develop- (5) Gujarat (1) Shri U. K. Sinha
mental projects 29. The Meet of the Finance Chiefs (2) Shri Ranjan Matheq'
(5) Consistent revision in the [ - gig'ezng‘;‘ggi"lsiras held:in (3) Dr. Subir Gokarn
limit of the Ways and e (4) Dr. M. S. Ahluwalia
1) London (2) Tokyo
M (
the:-‘\é'ls Advanctasﬁivgn éo (3) Paris (4) Marseille (5) None of }hese .
th R‘g’lemmer} of India by (5) Vienna 38. What does the term ‘AAY" de-
c : te which is the short form

s " 30. Which of the following organi- 1 :

25. (r::\:: lﬂniuft:fsf :wnmesstl}c:\Y'er zations has given a warning to of a Social Scheme launqhed
g e msla ; IOHENST the nations of the world that by the Government of india?
was tio news 1 sor:lle "1‘?}1101'. there may be increased risk to (1) Antodaya Awas Yojana
newspapers recently. This global financial stability in the (2) Asian Awas Yojana
means the performance of world? (3) Antodaya Anna Yojana
which of the following is NOT 2 ya- iina tyjAn

; (1) World Bank : (4) Area Antodaya Yojana
taken into accounts for the (2) World Trade Organisat
3 ganisation ’ 5) N f th
same? (3) Asian Development Bank (5l Hone:of these

(1) Steel (4) Internatio Pl Monata 87. Which of the following orga-
(2) Cement e d“a e nelaty nizations of women in India

will be .arisen out of the

(3) Coal (5) United Nations Organisa- confliictioe of thres fnovenents
(4) Gem and Jewellery gon - labour movement, coopera-

5) Crude o] 81. Which of the following is con- 1 :
(5) Crude oil tive movement and women's

26. 'Centre brings the curtain sidered Non Tax Revenuc of the movement based on Gandhian
down on DEPB scheme’ - was Guyermmient of Indis as pro- Philosophy ?
the news recently. What is the ﬁ?t;dc::n?;;imm Budget © (1) 'ns(?oy (2) SHG
il for of e o DS | @ oo Dty @aw  sewn

(3) Service Tax (5) Gramin Bank’

- l;romouon B;)ard (4) Corporate Tax 38. The Second Green Revolution
@ B“‘}i’ Entitlement Pass (5) Dividends and Profits being planned in India will be
v il 32. What does the letter ‘M’ denote launched basically in Eastern/
(3) Duty Enforcement and Pro- in the abbreviated term 'MRTP', North Eastern states and will

motion Board an act which was applicable in be based on production of—
. (4) Development, Export and India till recently ? (1) Sugarcane (2)Jute '
Procurement Bureau (1) Money (2) Moral (3) Bamboo  (4) Vegetables
(5) Deportation and Enforced (3) Minimum  (4) Monopolies 5
Prevention Bureau (5) Market (5) Paddy
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39.

41.

Which of the following factors

has now put a check on Mi-

gration of Agricultural La-

bourers from one place to an-

other in India ?

(1) Lack of irrigation facilities

(2) Low productivity of land

(8) Single crop cultivation

(4) Higher wages and avail-
ability of employment

(5) Launch of MGNREGA and
availability of employment
opportunities locally

Which of the following Acts

helps a bank in its day to day

activities?

(1) Competition Act

(2) Negotiable Instruments Ac

(3) Hindu Marriage Act

(4) Hindu Succession Act

(5) NRI Act

Lack of access to financial

services is technically known

as—

(1) financial instability

(2) financial inclusion

(3) financial stability

(4) financial exclusion: -

(5) poverty

42. Which of the following 1s ' NOT

ane of the rhajor functions of
the National Bank for Agricul-
tural and Rural Development
(NABARD) ?

(1) Acting as a rcgulatbr for:

_cooperative banks and
RRBs

(2) Extending assistance to
the government and others
in matters relating to ru-
ral development

(3) Providing refinance to
lending institution in ru-
ral areas

(4) Acting as a coordinator in
the opegations of rural
credit institutions

(5) Review of monetary and
credit policy

As we all know Banks in In-

dia are required to maintain

a portion of their demand and

time liabilities with the Re-

serve Bank of Ifidia. This por-

tion is called —

.

(1) Statutory Liquidity Ratio

" (2) Cash Reserve Ratio

47.

(3) Bank Deposit

(4) Reverse Repo

(5) Government Securities
Banks in their daily bustness
face various kinds of risks.
Which of the following is one
such major risk ?

(1) Customer risk

(2) Reputation .

(3) Goodwill risk

(4) Protection risk

(5) Operational risk

Which of the following

‘schemes was launched by the

RBI in 2004 under which Gov-
ernment of India dated Secu-

rities/Treasury Bills could be -

issued to absorb surplus/du-
rable liquidity ?

(1) RTGS

(2) External Commercial Bor-
. rowing R

(3). Market Stabillsation
Scheme

(4) High value clearing scheme

(5) Pre-paid payment Instru-
ment facility

How much amount (in =%

crores) was allocated for rais-

ing credit to the farmers in the

' Union Budget 2011-12?

(1) % 475000 crores
(2) = 575000 crores
(3) ® 675000 crores
(4) % 775000 crores

" (5) None of these

What does the letter ‘M’ de-
note in the name ‘MFI' as
used in financial sector ?

{1) Mint (2) Monetary
(3Micro  (4)Mega
(5) Multiple

The Government of India has
created a women's Setf Help

Group Development Fund so |

that it can reduce their inter-
est burden. What is the size
of the fund ?

(1) % 100 crores

(2) ® 200 crores

' (3) ® 250 crores

(4) ® 400 crores
(5) % 500 crores

49. Which of the following is NOT -

Bl.

52.

a programme launched by the

Government of India ?

(1) Sarva Shiksha Abhiyan

(2) Rastriya Krishi Vikas Yo-
Jana

(3) Accelerated lrrlgauon Ben-
efit Prograrnme

(4) National Rural Livellhood
Mission

(5) Jeevan Anand Yojana

. .Which of the following

schemes is launched to pro-

vide prenatal and postnatal

care to mother and child ? *

(1) National Mission for. Pro-
tein Supplements -

{2) Initiative on Vegetable
Clusters

(3) Promotion of Nutri Cereals

(4) Jan Mitra Yojana

(5) Janani Suraksha Yojana

Which of the following state-

ments is TRUE about Interna-

tional Monetary Fund (IMF) ?

(1) IMF provide Ways and
Means Funds to member
countries :

(2} IMF is an agency of the
World Bank and is sttuat-
ed in Prague "

{3) IMF makes all the ru!ca and
regulations in relatfon to
the World Trade between
the nations

(4) On becommg member of
the IMF, countries get fi-
nance as temporary Bal-
ance of payment needs

(5) IMF is an organization
floated by the mermbers of
NATO and caters to the
need of those countries
only : 4

The bank rate is ; ‘

(1) free to fluctuate aceording
“ to the forces of demand and
supply

(2) set by the R. B. I.

(3) set by the R. B. L. as di-
rected by the Union ‘Minis-
try of Finance »

(4)set'by R.B. 1. as advised
by the Indian Banks Asso-
clation

(5) set by. Govemment of In-
dia on the recommendation
of the Planning Commis-
soin - '
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53. Which of the following terms 88. Famous Sardar Sarovar Dam | 64. Dr. Manmohan Singh recently

ts used in the field of Banking 1s built across which of the fol- addressed UN General Assem-
and Finance ? lowiuig rivers ? bly. Which of the following was
(1) Special Drawing Rights_ (1) Ganga (2) Tapti the major issue which he em-
(2) Affirmative Defence (3) Krishna  (4) Narmada phasized in his speech ?
(3) Civil Procedure (5) Sutlej - (1) Usefulness of multilateral .
(4) Informed Consent §9. Whih uf the following is NOT 1°“§“\‘,§ alg:"g‘esl:“?e ‘SﬁF
(5) Question of Fact a Cr:dil Raling Agency ? ang Mo Bank.-di 2he

B84. Which of the following is one (1) Credit A f[ sis cynd R present context

. . “redit An a e- ’
of the Millennium Develop- siarch T, (éARE) (2) WTO's efforts to introduce
ment Goals fixed by the United _ more and more G M Crops
% (2) Lintas India Pvt. Ltd. in the market
Nations Organisation (UNO)? Moody” :
(1) Develop a global partner- (3) Moody's Investors Service (3) Democratic Rights in Gulf
ship for development (4) Standard and Poors Countries
(2) Develop new varieties of (5) Fitch Ratings . (4) Mechanism to control oil
food grains which can en- 80. Who among the following is the prices in the world
sure bumper crops ~ Preswlent (Chief) of the World (5) Need of strong Indo-China
{3) To ensure that population Bank at present ? . relations
does not increase in Least (1) Peter Thomson 65. Which of the following is
Developed countries at an {2) Goran Hadzic called “Robinhood Tax™ and
alarming rate was in news during recent
(4) Devel t rt e o g * Summit of G-20 nations ?
evelop measures to ave! - (@) Al 4 5
deadly Hurricanes/Tsuna- :5]) z a; Gretispan (1) Excise Duty
mies etc. in an effective way 61 Whi 'h a?%h iy (2) VAT :
(@ Ensure that + Global | 81 WHeh oL e UL | () Gonds and services Tx
Economy is developed ' (4) Tobin Tax
where all nations can par- Organisation on which ‘India o Noris o
ticipate according to their and f-w other countries were () Nonie of these
strengths ' hav'ng all together different | 86. The Approach Paper of 12th
B55. Which of the following coun- views than developed coun- Five Year Plan got approval of
" tries recently got a new bail- tnes ? ) the Union Cabinet recently. ‘
out package with the help of (1) Subsidies and Government Which of the following is
the Private Sector? procurement policy addedhfor ‘the t:i?rst time in ap-
(1) Germany  (2) France (2) G, M varieties of certain Proach papetd
(8) USA' y (4) Greece crops {1) Growth Rate and mecha-
{5) Russia (3)Making Yuan as major o gism touachi_t’a;e it )
B86. By which of the following trade currency a::;rggv:r?{ancinqur ney
months Goods and Services (4) Special treatment to NATO 3)'S h & Ao
. Tax (GST) 1s to be implemented suntries ' (3) Strengthening of Agricul-
India ? \l ture sector
e @ratlelihens (4)- Perlodical Review of M
(1)Apri1 2015 (2)April201% | 2. Wh . among the following s the s ol by the Qiovests
(3) Apnil 2013 * (4) April 2012 He.: of the National Manufac- ment ang not by RBI
(5) June 2012 turing Competitiveness Coun- (5) All of these

87. India recently completed nego- _cil, reconstituted recently ? a7 AR ¢
tiations with 16 countries for ““(1) Shn Isher Ahluwalia " 1 ug; x eservtcl ° lgalsqwz:;‘ex-
entering into a ‘TIEA". TIEA de- ) plored. recently i Norucm

; (2) Dr. Kaushik Basu Rashidpur Gas Fields of —
notes which of the following ? : : P
(3) Shri V. Krishnamurthy (1) Bhutan (2) Bangladesh
(1) Tax ‘India Exchange Ac- (4) Shri G. M. Ra , g
count’ ‘_) - 50 N0 (3)Sri Lanka {4) Pakistan
(2) Tax Information Exchange (‘{) ane of Fhese (5) Afghanistan .
Agrecment 83. Whihof the following nations | gg, Which of the following agen-
{3) Total ‘Information Ex- xa ""embe‘t of G-8? cies recently conducted a Pol-
change Accord (1) New Zealand lution Survey of various cities
(4) Terr.inal Issue and Ex- (2} tibya across the world and found out
char e Agreement (3j ¢ mna that cities in India, Iran, Pa-
(5) Tax Issues and Export " (4) South Sudan kistan and Mongolia are the
Agrecmients (5) cariada most polluted cities in the
k sl world ? ;
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(1) World Bank
(2) International Monetary
Fund

(3) Asian Development Bank

{4) World Trade Organisation
(5) World Health Organisation
The Central Banks of five de-
veloped countries recently
came together and dectded to
provide untimited dollar loans
to banks in their areas. What

was the purpose of the same ? -

(1) To prevent China from be-
coming a bigger lender
than the World Bank

{2) Ease growing tensions in
the Euro zone's financial
sector:

. (3) To reinstate USA’s Credil
rating at AAA level from the
downgraded AA+ level

(4) To create an emergency
pool of dollars to provide
instant help to any coun-

. try in case of need

(5) None of these

Which of the following is a

payment and settlement sys-

tem used by the banks in In-
dia?

(1) Liquidity Adjustment Fa-
cility

(2) Real Time Gross Settle-
ment

(3) Forward Rate Agreements

70.

(4) Central Depository Service .
(5) Negotiated Dealing System °

71. 'Federal Reserve' is the Cen-
tral Bank of which of the fol-
lowing countries ?

(1) Russia (2) Britain

(3) Canada (4) Australia
(5) USA

The Y. H. Malegam Comunit-
tee which submitted its report
a few months back was set up
to report on further improve-
ment of functioning of —

(1) Micro Finance Institutions
(2) Stock Exchanges in India
(3) Cooperative Banks

(4) Regional Rural Banks

72.

(5) Foreign Banks having of- g

fices in India
The Comptroller and Auditor
General (CAG) of India re-
cently got appointed as Exter-
nal Auditor” of which of the
following organizations/agen-
cles ?

73.

74.

75.

76.

77.

78.

79.

(1) World Bank °

(2) Bank of America

(3) UNESCO

(4) IAEA and W{PO

{5) International Monetary
~ Fund (IMF)

‘Special Drawing Rights’ are

the rights of countries provided

(1) World Bank (2) IMF

(3) ADB

{4) Federal Reserves

(5) None of these

Indian citizens are allowed to

invest overseas-freely except

in— G

(1) Sri Lanka {2} UK

(3) Bangladesh (4) Nepal

(5) Pakistan

Who among the following rep-

resented India in first South

Asia Forum Meeting held in

September 2011 ?

{1) Dr. Manmohan Singh

{2) Shri Ranjan Mathai

(3) Dr. Mahendra Lama

(4) (1) and (2)

(5) (2) and (3)

Which of the following

schemes is launched by the

Government of India to make

Indian cities free from

hutments and slums ?

(1) Indira Awas Yojana

(2) Rajiv Awas Yojana

(3) Rashirtya Gram Swaraj
Yojana

(4) Central Rural Sanitation
Programme

(5) None of these

Which of the following is the

largest producer of chemical

fertilizers in the world ?

(1) India (2) USA
(3) Mexico (4) Russia
{5) China '

Which of the following is the
abbreviated name of the
programme launched by the
Government of India for devel-
oping desert areas ?

(1) DRDA (2) CAPART
(3) DDP (4) IRDP
(5) DWCRA

80. Who among the following are
. the two economists who got
Nobel Prize in 2011 for their
contribution in Economics ?
(1) Thomas J. Sargent and
Christopher A. Sims
(2) Peter A. Diamond and Tho-
mas J. Sargent
(3) Christopher A. Sims and
Dale T. Mortensen
(4) Olliver O. Williamson and
Amratya Sen
(5) None of these

ENGLISH LANGUAGE

Directions (81-88) : Read the |
following passage carefully and an-
swer the questions given below it.

-Certain words/phrases are printed

in bold to help you to locate them
while answering some of the ques-
tions.

Food inflation is a significant
negative feature of today's economic
environment and more so, in re-

- spect of our country. It has a tre-

mendous impact on quality of life,
as people struggle to maintain nu-
tritional standards that they had
previously achieved, or give up some
other forms of consumption so as
to keep themselves well-fed. For a
country that legitimately believed
that it had effectively dealt with its
vulnerability to food shortages in
the form of the Green Revolution
of the late 1960s and early 1970s,
the current situajion comes as a
rude reminder that solutions are
rarely permanent.

To place the current develop-
ments in context, it must be point-
ed out that the world economy is
itself facing problems with food’
prices. Food as a category has been
following global trends in commod-
ity prices over the past couple of
years. There is a view that this is
the outcome of the larger trend to-
wards financialisation of commod-
ities wherein large increases in glo-
bal liquidity as a response to the
2008 crisis feed directly into higher
asset prices, including commodities.
Be that as it may, the price dynam-
ics of individual food items suggest
that there are also some commodi-
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. ty-specific factors at work, which
may either reinforce ar counteract

the broader trend. Sugar, for exam-.

ple, shows fluctuations in response

to current supply conditions, while |

wheat reflects the effect of persis-

tent drought in some major culti-

vating areas. )

India's food inflation is certain-
ly linked to global trends, particu-
larly in relatively heavily traded com-
modities like sugar and ollseeds, but,
given the high degree of self-reliance
tn many other commodities, domes-
tic factors play a big role, although
the drivers of inflation in recent
months have been energy prices and
demand pressures, as reflected in
the non-food manufactured prod-
ucts index, food prices contributed
significantly in the first half.of 2010
and remain unceomfortably high.
Apart from the direct impact on the
index, it is also likely to feed
through into the wider inflationary
process through higher wage de-
mands, of which- there is some evi-
dence.

It is generally believed that food
prices are highly sensitive to mon-
soon performance, but this belief
has been tested over the past few
years. There is sufficient evidence to
suggest that food prices are: being
driven not by transitory factors, such
as rainfall, but by more fundamen-
tal forces. Essentially, a long peri-
od of relatively rapid growth has
taken large numbers of households
across a threshiold at which they
begin to look for nutritional diver-
sification. The predominance of ce-
reals in the typical household diet
gives way to greater balance and a
consequent increase in the demand
for proteins - pulses, milk, meat,
fish and eggs, vegetables and fruit.
It"is no surprise that these items
have been the primary causes of food
inflation in the recent period.

81. Why, according to the passage,
does food Inflation affect peo-
ple's quality.of life ?

{1} It is a fundamental require-
ment of every individual.
(2) Generally, people refrain

from maintaining their nu-
tritional standards.

82.

83.

" (3)A only

84.

(3) People generally are averse
to change their form of con-
sumption.

(4) People give up some other
forms of consumption to
keep themselves well-fed.

(5) None of these

Which of the following state-

ments contradicts the general

belief that our country has
achieved self-sufficiency in re-

‘spect of food ?

(1) Food inflation is'a signifi-

. cantly negative feature of

today's economic environ-
ment.

{2) Our country legltlmately
believes having mastered
food deficiency.

(3) Green Revolution of the late
1960s and early 70's has
helped us conquer depen-
dence on others for food.

{4) Our vulnerability to food
shortages was effectively

dealt with by us in the late’

1960s and early 70's.

(5) None of these

Which of the following best ex-

plains the phrase, "solutions

are rarely permanent" as

used in the passage ? A

(A) Our strategies for overcom-
ing the food shortages in a
specific period have proved
to be futile subsequently.

(B)The current situation has
been a rude reminder of our
self-reliance in a specific
period in the matter of food.

(C)The general tendency of peo-
ple to keep themselves well-
fed leads to food inflation.

(1)A & Bonly (2)B & C only

(4) C only

(5) None of these

WHat, according to the pas-

sage, is DEFINITELY the root

cause of problems with global

food prices?

(1) Shortage of commodmes
that constitute food items

(2) Financialisation of com-
modities

(3) Food crisis faced globally in
2008 - '

{4) Increase in global liquidity

- (5) None ovf these

87.

85. The example of sugar and

wheat helps us to conclude

that ’ '

(A) Certain commodity-specif-
ic factors help perpetuate a
general tendency.

(B)Certain commodily-specif-
ic factors make the trend go
in reverse direction.

(C)The current supply condi-
tions are insensitive to the
global trends.’

(1) All the three

(2) B & C only

(3)A & C only (4)A & B only

(5) None of these

Which of the following is/are

crucial factor(s) responsible for

India's food inflation in the

recent period ?

(A)Escalating energy prices
‘and rising demand pres-
sures.

(B)Changing scenario all over
the world that influences
food inflation.

(C)People's inclination to nu-
tritional diversification.

(1) All the three

(2) B & C only.

(3)A & C only (4)A & B only

(5) None of these 3

Which of the following

statemnent(s) is / are definitely

TRUE in the context of the.

passage ?

(A) Past few years' data show
that food prices are heavily
dependent on monsoon
performance.

{B)Increased food prices have
exerted an impact on the
index and instigated high-
er wage demands.

{C)In typical Indian house-
hold, consumnption ol food
items with high protein-
content is on a higher side.

(1) All the three (2)\

A& B only

(3)B&Conly (4C only

(5)A & C only

Which of the following best ex-

plains the meaning of the two

words "fluctuations” and

"sensitive’ taken together in

the context of the passage ?
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. (1) Considerate to establish
stability
(2) Vulnerability to changes
{3) High tmpact of change
(4) Vulnerability leading to
chaos
(5) Susceptibility to security
Directions (89-93) : Rearrange
the following seven sentences (4),

(B), (©), (D), (E). (F) and (G) in the

proper sequence to form a mean-
ingful paragraph; then answer the
questions given below them.

(A) They have to, therefore, nec-
essarily devise strategies for
product differentiation and
pricing, market segmenta-
tion and efficient portfolio
management.

(B) There is a great need for the
banks to fully exploit these
sectors to achieve a win-win
situation for both - the farm
and non-farm sector units
and the banks.

(C) The time has now come to
consolidate on the gains of
the past decades of nation-
alized banking.

(D) This means banks will no
longer be operating in a
"seller's market".

(E) Undoubtedly, an untapped
and vibrant market for com-
mercial banking exists in

the farm and norf-farm sec- -

tors of rural economy.

(F) Then, and only then, could
it be claimed that the na-
tionalization has, at least
to some extent, achieved
the purpose of nationaliza-
tion. _ '

(G) The present era of financial
liberalization and global-
ized banking would entail
that banks equip them-
selves to face the rigours of
a highly competitive finan-
cial matket.

89. Which of the following should
be the SECOND sentence af-

ter rearrangement ?
1G (2F
(3)E (4)D
(8)C ’

90.

91.

92.

93.

' Directions (94-98) :

(1G @F
8)A 4)D
- (5)B

- Which of the following should

be the FIFTH sentence after

rearrangement ?
(1)G (2)F
AQE (4)B
(5)D

Which of the following should
be the FIRST sentence after

rearrangement ?

1) G (2)F
B E (4)D
(6)C

Which of the following should

be the SEVENTH sentence

after rearrangement ?

(UG (2)F
(B)E 4)C
(5)D

In each

question below, two sentences or

.parts of sentences are given with

two blank spaces (___) ( ___) be-

tween them. Frorh.

among the three

parts / sentences denoted by (A),
(B) and (C) given below ‘each, find
out which two can fill up the blanks
in proper sequence (i.e. the order
in'which these are given in the an-

. swer options) to make the sentence/

group of sentences meamngfully
complete.

‘94

25.

Four years ago, 1 had major

surgery. Gz s

(). Iwastooill

(A) It left me disabled.

(B)My attempts to go back to

work could not succeed.

(C)I had fully recovered except

for some minor weakness.

(1) (B) and (A) only

{2) (C) and {A) only

(3) (B) and (C) only

t4) (A) and (B) only

(5) (A) and (C) only

Based on scientific research,

scientists conclude that

( ) ( ), they

will live even more than a hun-

dred years,

(A) keep themselves active all
through

(B) exercise more, ensure prop-

96.

97.

(1) Only (A) and (B)

(2) Only (A) and (C)

(3) Only- (C) and (A)

(4) Only (C) a.nd (B)

(5) Either C and (A) or (C) and

(B)
The Central Government's
plans to{ I 2}

. despite the fact that the op-

position parties' united front

had mobilizéd support of gen-

eral public at the outskirts of

Mumbai.

(A) defy the curfew imposed to
prevent the proposed rally
from protesting against the
hike in petrol prices

(B)curb the rally called for by
the opposition succeeded
due to ruling party's an-
nouncement t{o

(C)cancel all the trains enter-
ing Mumbat,

(1) (A) and (B) only

(2) (B) and (A) only

(3) (B) and (C) onfy

(4) (A) and (C) only

(5) Either (B) and (C) or (A) and
(&)

The economic gloom was ex-

acerbated yesterday by Greek

Prime Minister's surprise an-

nouncement (________-)

( }; and vote might

put the torturously conceived

package in jeopardy.

(A) that was struck tast week

(B)that he would recommend
the Parliament to strike
down the obnoxious deal

(C)that his country would
hold a referendum on the
European debt deal

{1) (C) and (A) only

(2) (B) and (A) only

{3).(A) and (C) only

(4) Either (C) and (A) or (B) and
(A)

(5) None of these

The world's'most powerful na-

tions were warned ( )

( ) and trigger mass

social unrest.

(A) that could cost millions of
jobs around the globe

Which of the following should er vitamin intake, (B)that international €cono-

be the THIRD sentence after (C)human species, if regulate my was on the brink of a

rearrangement ? their diet, deep new cconornic crisis
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(C)that the only solution was
pumping a huge amount of
money in the economy

(1) (C) and (A) only :

(2) (B) and (A) only

(3) (B) and (C) only

{4) (C) and (B) only

(5) None of these

Directions (89-103) : Which of
the phrases (1), (2), (3) and (4) giv-
en below should replacé the phrase
given in bold in the following sen-
tence to make the sentence gram-
matically meaningful and correct, If
the sentence is correct as it is and

no correction is required, mark (5)

as the answer.

99. Innovators create products
which is an outgrowing of
what they imagine, things
that help them create a world
they would like to live.in. -
(1) what is an outgrowing of

what has been imagined by
them )

(2) which are an outgrowth of
what they imagine

(3) which are outgrowing what
they imagine

{4) which outgrew their tmagi-
nation

(5) No correction required

100. The produci-driven organjza-

*  tion has the product as the.
most important element in
everything it does.

(1) does everything to have the
product's most important
element

(2) does the most important
things to have all elements
of importance in its prod-
ucts

(3) had the product as the
most important element in
everything they do

(4) keeps the most .important
elemgnt in every product

(5) No correction required

He had always have a full

measure of a trait that is a

mark of a successful leader: d&

termination.

(1} did always do a full mea-
sure of 3 trait -

(2) had always did have a full
measure of a trait

101.

(3) had always have a fully
measured traits
(4) has always had a full mea-
sure of a trait
{5} No correction required
102, Most of the people were dumb-

founded and obviously uncom-

fortable by the performance
that was cxpected of them.
(1) with; the performance that
they were expecting
'(2)by the performance that
they were expected with
(3) with the performance that
was expected of them - °
{4) at the performance which
had expectations of them
(5) No correction required
103.If he considered you to be a
bright, capable and made
contribution to his proposed
- project, he would listen to your
~  criticizing him.
‘(1) are bright, capable and had
‘'miade contribution to
(2) to be bright, capable and
making contribution to

(3) to be bright, capable and |

had been contributed for
(4) would have been bright, ca-
pable and contributing
with
(5) No correction required
. Directions (104-110) : In the
following passage, there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five words.
are suggested, one of which fits the
blank appropriately. Find out the
appropriate word in each case.

With fairy lights up in shopping | -

centres and crackers on offer in su-
permarkets, Britain is already (1041
up.for Christmas. In'this tough eco-
nomic climate, many retailers are
hoping the festive season will be a
chance for the public to (105 ) their
financial difficulties. And, for some
companies, the millions of Britons
now struggling to make ends meet
are an early Christmas present.

As banks stop lending and (106}
eats away at the pay packets of
those lucky enough to still be in
work, the past year has seen an
{107) in high-cost credit lending in

the UK. Payday loan companies and |

hire purchase stores now (108)] town
centres around Britain, offering as-
tronomical interest rates on loans

- to those who have few other options

to (109) their outgoings. Last year, -

_the payday loan sector was worth

£1.7bn, a fivefold increase in the
past few years. The pace of expan-
sion is (110) too. Between April and
May this year alone, there was a 58
per cent rise in the number of peo-

ple applying for a payday loan via

moneysupermarket.com.
104.(1) paying (2) sweeping
" {3) fuming {4) gearing
(5) giving :
105. (1) overcome (2) forget
(3) sustain (4) endure
*(5) minimize '
1086, (1) interest (2) taxing
(3) inflation  (4) spending
{5) expenditure

107.(1) explosion  (2) invasion
(3) exploitatiori(4) epidemic

(5) abstination
108. (1) open . (2) escalate
' (3)enshrine  (4) cater
. (5) dominate
108. (1) check (2) reduce
(3) liberate: (4) cover
(5) enhance

110. (1) accelerating (2) sharpening
(3) regulating (4) falling
(5) evolving '

QUANTITATIVE APTITUDE

Directions {111-118} : What
will come in place of the question
mark (?) in the {ollowing questtons ?
111.[(3024+189)"/? + (684 +19)%]

= (?)? + 459

{1)27 (2)-29.
- (8)31 (4) 841

(5) 1089

112.4.4 times of 1-56 of 30% of

216="7
(1)81.9 (2)83.7
(3)87.3 (4) 89:1

(5) None of these
113.(0.0729 + 0.1 + (0.081 x 10)°x

(0.3 x3)°=(0.9)*3

(131 (2)2

(3)4 @7

(5) None of these
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114. (V?% of V1762 x5) = 149.8-

112

m s (2) 18

(3) 324 (4) 24

(5) None of these .
115.(27)*x6 + 9+ (7)°+ 71 =(?)>-

431

(1) 11 (2) 13)°

(3) 13 (4)(11)2

(5) None of these

. Directions (116-120) : In the
following questions three equations
numbered I, Il and III are given. You
have to solve all the equations ei-
ther together or separately, or two
together and one separately, or by
any other method and—
Give answer If

(1) xX<y=z
(2) Xxgy<z
. (3) xX<y>z
(4) X=y>z b
(5) x=y=zorifnoneo

the above relation-
ship is established
"116.1. 7x+6y+4z=122

II. 4x+ 5y +3z=88

II.9x+ 2y +2=78

117.1. 7x+6y=110
iI. 4x+ 3y=59
Ill.x+2z=15

118.1. x=‘[{(36)‘/2 x (1296) /4]

II. 2y +32z=33

.6y + 5z=71
119.1. 8x+7y=135

II. 5x+6y=299

L. 9y + 8z = 121
120.1. (x+ y?*= 1331

II. x-y+z=0

L xy = 28

Directions (121 - 125) : What

will come in place of the question
mark (?) in the following number
series ?

121.9 31 73 141 (?)
(1) 164 (2) 280
(3) 239 (4) 241
(5) None of these
122.35 256 451 620 763 (?)
(1) 680 (2) 893
(3) 633 (4) 880
(5) None of these

123.130 139 155 180 216 (?)

{1) 260 (2) 290
(3) 265 (4) 996
(5) None of these
124.2890 (?) 1162 874 730 658
(1) 1684 (2) 1738
(3) 1784 {4).1672

(5) None of these

128.14 1004 1202 1251.5 1268
(?)
(1) 1267.5 (2) 1276.25
(3) 1324.5 (4) 1367.25
(5) None of these

Directions (126-130) : Study
the following information carefully
to answer the questions that fol-
low :

There are two Trains, Train-A
and Train-B. Both Trains have four
different types of Coaches viz. Gen-
eral Coaches, Sleeper Coaches,
First 'Class ‘Coaches and AC
Coaches. In Train A there are total
700 passengers. Train-B has thirty
percent more passengers than Train
A. Twenty percent of the passengers
of Train-A are in General Coaches.
One-fourth of the total number of
passengers of Train-A are in AC
coaches. Twenty three percent of
the passengers of Train-A are in

Sleeper Class Coaches. Remaining .
-passengers of Train-A are in first

class coaches, Total number of pas-
sengers in.AC coaches in both the
trains together is 480. Thirty per-
cent of the number of passengers
of Train-B is in Sleeper Class
Coaches. Ten percent of the total
passengers of Train-B are in first
class coaches. Remaining passen-
gers of Train-B are in general class
coaches.
1268. What is the respective ratio
‘between the number of pas-
sengers in first class Coaches
of Train A and number of pas-
sengers in Sleeper Class
coaches of Train - B ?
(1) 13:7 (2)7:13
(3) 32:39
(4) Data Inadequate
(5) None of these
What is the total number of
passengers in the General
Coaches of Train - A and the
. AC Coaches of Train - B to-
gether ?

127.

‘

(1) 449 (2) 459
(3) 435 (4) 445
(5) None of these

128.What {s the difference be-
tween the number of passen-
gers in the AC Coaches of
Train-A and total number of
passengers in Sleeper class
coaches and First class
coaches together of Train-B ?
(1) 199 . (2)178
(3) 187 (4) 179
(5) None of these

129. Total number of passengers in
General Class coaches in both
the Trains together is approxi-
mately what percentage of to-
tal number of passengers in

Train-B ?

(1)35 (2) 42
(3) 46 (4) 38
(5) 31

130.If cost of per ticket of First
class coach ticket is # 450,
what total amount will be
generated from First class
coaches of Train-A?
(1) #1,00080 (2)* 108,000
(3) ¥ 1,00,800 (4) ¥10.800
(5) None of these
Directions (131-135) : Study
the radar graph garefully and answr
the questions that follow:
Monthly Salary (in thousands)
of five different persons in
three different years

Arvind Joti

& 2008 [02009 A 2010

131.What was .the average
monthly salary of Sumit in
the year 2008, Anil in the year
2009 and Jyoti in the year
2010 together? ?
(1) #20.000 (2)%25,000
(3) ¥45,000 (4) %15,000
(5) None of these
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132.

Total monthly salary of Arvind
in all the years together was
what percent of the total

_monthly salary of all the five

133.

persons together i the year
2008? .

(1) 55 ; l2)60

(3)75 (4] 70

(5) None of these

Among the five persons whose
earning per month over all the
years together is second low-
est?

(1) Sumit (2) Anil
(3)Jyoti (4) Arvind
(5) Poonam

134. What was the percerit decrease

in monthly salary of Poonam
in the year 2009 as compared

to her monthly salary in pre-

vious year?

(1)40 " (2) 100
(3) 20 (4) 80
{5) None of these

135. If Jyoti's monthly salary in the

year 2010 was increased by 30
percent then what would be
her monthly salary in that
year ?

(1) %= 36,000 (2)%39,000
(3) ®45,000 (4) ®42,000

" (5) None of these

Directions (136- 140) Study the table carefully to answer the ques-
tions that follow:

Number of animals in grassland of four dliferent .
countries in five different years

¥

Country

Year | South Africa

China

811 Lanka

Lion

Tl‘er

Tiger

Lion | Bear Lion

Tiger

1990 145 | 156 | 250 | 320 | 346

280 | 468 | 265 | 423 | 342

1995| 134 | 165 | 354 | 445 | 256

542

354 | 354 | 343 | 368 | 136 | 345

2000| 120 | 135 | 324 | 583 | 325

433 | 345 | 545 | 354 | 267 | 456

2005|110 | 184 | 285 | 466 | 475

322

343 | 324 | 546 | 562 | 235 | 567

2010]| 160 | 224 | 264 | 411 | 535

535 | 532 | 453 | 349 | 345 | 324

136.

137.

138.

What was the average number
of tigers in grassland of Sri
Lanka over all the years to-

gether ?
(1) 386 (2) 389
(3} 369 (4) 276

(5) None of these

What was the difference be-
tween the total number of li-
ons and bears in the grassland
of England in the year 2005
and the number of tigers in the
grassland of South Africa in
the year 1995 ?

{1) 597 (2) 558

(3) 677 (4) 668

(5) None of these

Total number of animals to-
gether in grassland of China
in the year 1990 was approxi-
mately what percent of total
number of bears in the grass-

139.

140.

land of Sri Lanka over all the
years together?
(nas

(3) 41

(5) 51

If 35 percent of the total num-
ber of animals in the grassland
of China in the year 2010 died
due to an epidemic, how many
animals remained in the grass-
land of China in the year 2010?
(11976 (2) 952

(3) 986 (4) 962

(5) None of these

What was three-fourth of the
total number of lions in the
grassland of all the four coun-

(2) 56
(4) 47

tries in the year 2000 together?
{1) 848 {2) 868
{3)804 - . (4)824

(5) None of these

'REASONING

the
and

Directions {(141-148) : Study
following information carefully
answer the given questions.

Eight family members A, B,.C,

D, E, F. G and H are sitting around
a circular table, facing the centre but
not necessarily in the same order.

'F, the wife of D is sitting third
to right of C.
A is the son of H. A is sitting

. second to left of D. D is not

an immediate neighbour of ei-
ther F or C. No male is an im-
mediate neighbour of D.

G sits second to left of D’s son.
Only two persons sit between
H and A’s brother. Neither, C
nor D is the brother of A.

D’s son and the wife of D’s son

- are immediate neighbours of

141.

142.

143.

144.

each other.

F is the mother of H. F is not
an immediate neighbour of B
and G.

G is the sister of E.

Who amongst the following is
D's son ?

(ME @G

(3)A (4)B

(5) Cannot be determined
Who sits second 4o the left of
G?

(1) A’s brother (2) G's mother

(3)D (4) B's father
" (B)A's aunt
How many people sit between
A and his brother ?
(1) None (2) One
{3) Two (4) Three
(5) Four _
Who amongst the following sits
exactly between H and F ?
(1) D's wife (2) D's son
3)C ‘ (4)B
(B)A -

145

1486.

.Who amongst the following is
the brother of A ?

(DE (2G

{3)A (4)B

(5) Cannot be dcten(nned
Based on the given arrange- .
ment, how is A related to D ?
(1) Grandfather

(2) Son (8) Grandson
(4) Daughter-in-law

{5) Cannot be determined
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147. Four of the following five are

altke in a certain way based
on the given arrangement and
so form a group. Which {s the
one that does not belong to

that group ?

(1)B @c
3)H 4)G
(5) F

148. Which of the following state- .

ments regarding H is definitely

correct?

(1) H s a-male

(2) H is the cousin of C

{3) Both the immediate
neighbours of H are males

(4) H is the daughter-in-law of
D

(5) H is the father of A

149. Read the following informa-.

tion carefully and answer the
question which follows.

A recent.report points to the
fact that what stands between

girls in village Regari and-a:

good education is the lack of
transport, to and from the
only school in the area.

Which of the following can be’

inferred from the given state-
ment?

(An inference is something
which s not directly stated but
can be inferred from the glven
facts.)

(1) Everyone living in Regari

ing
(2) Discrimination against
girls is more evident in
Regari than other villages
in India
(3) The report had shown
Regari in a poor light
(4) The school in Regari is not
at a walkable distance
from the village
(5) Thére is also a lack of in-
stitute for higher (earning
in Rewari
Directions {150-158) : Study
the following information to answer
the given questions:
In a certain code,
‘weapons hidden in town' is
written as ‘white black yellow red’,

faces problems in commut-

'h_!dden for own safety’ is
written as ‘sflver grey violet white’
and '

‘own town undeér attack’ is
written as ‘violet blue indigo black'

' 180. What is the code for ‘ready’ ?

(1) red " (2) indigo
(3) green (4) grey
(5) Cannot be determined
'181. What does ‘silver’ stand for ?
- (1) safety (2) own
. (3) hidden" {4) for

(5) Either own or for
152. ‘black pink yellow’ could be a
code for which of the Tollow-
ing ?
(1) town under attack
~_(2) hidden for safety
. (3) attack in town
(4) my own town *
{5) risk in town
183.What is the code for ‘attack’ ?
" (1) grey (2) indigo
(3) white (4) violet
(5) blue
154. ‘Which of the following mayrcp-
resent ‘all hidden weapons' ?
" (1) white red orange
(2) brown grey red ]
_ (3)indigo white red
 (4) red violet white
.. . (5) orange brown red
188. What is the code for.'own’ ?
(1) stiver (2) blue
(3) indigo (4) violet
(5) black
Directions (186-160) :
of the questions below consists of
a question and two statements
numbered [ and 11 given below it.

"You have to decide whether the data

provided in the statements are suf-

‘ficient ‘to answer the question.

Read both the statements and

. Give answer (1) if the data in -

Statement I alone are sufficient
to answer the question, while the

- data in Statement I alone are not

sufficient to answer the question.
Give answer (2) if the data in

Statement II alone arc sufficient

to answer the question, while the

Give answer (3} if the data in
either Statement I alone or in
Statement II alone are sufficient to
answer the question.

Give answer {4} if the data in
neither Statement I nor I are suf-
ficient to answer the question.

Give answer (5) if the data in
both the Statements I and II to-
gether are necessary to answer the
question. N
156.Among P, Q, R, S and T. sit-

ting in a straight line, facing

North, who sits exactly in the

middle of the line ? '

1. . P sits third to left of S. T is

.an immiediate neighbour of
Paswellas R.

II. T sits second to left of S. Q
is not an immediate
“neighbour of either T or S.

187. Among five friends A, B, C, D
and E, sitting around a circu-
lar table, facing the centre,
who sits to the immediate -
right of A ?

1. E sits third toright of D. A
is not an immediate neigh-
bour of D.

II. C sits second to left of B.
A is not an itmmediate
neighbour of C.

188. Who amongst P, Q. R, S and
T is the tallest ?

1. Pijstaller than S and T but
shorter than R. Q 15 taller
than S.

II. Tis taller than S. P is not
the tallest.

159. Is ‘EAST' the word formed af-
ter performing the following
operations on a word contain-
ing these four letters ?

I. There is only one letter be-
tween A and T. E is to the
left of A.

II. The word does not begin
with T. There is only one
Jetter between E and S. T
is not an immediate neigh-
bour of E.

160.1s C the gtandmother of M ?

1. C is the mother of D. D is
the brother of M's father.

II. E is the mother of S. S is
the sister of M. F, the aunt

‘ready weapons for attack’ is | data in Statement I alone are not |. of S is the only .daughter
,written as ‘grey indigo red green’, sufficient to answer the question. of C.
Visit us at - www.kiranprakashan.com
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Directions (181 -166) : In each
question below are two/three state-
ments followed by two conclusions
numbered 1 and I1. You have to take
the two/three given statements to
be true even if they seem to be at
variance from commonly known
facts and then decide which of the
given conclusions logically follows
from the given statements-disregard-
ing commonly known facts.

Give answer (1) if only conclu-
sion 1 follows.

Give answer (2) if only conclu-
sion II follows.

Give answer (3) if either con-
clusion I or conclusion II follows.

Give answer (4) if neither con-
clusion I nor conclusion II follows.

Give answer (8) if both conclu-
sion T and conclusion II follow.
(161-162):

Statements :
Some colours are paints
All colours are vamishes.
No varnish is dye.
161. Conclusions :
I. No paint is dye. v
II. All' paints being varnishes
is a possibility.
162. Conclusions :
I. Some varnishes are paints
- 11. No dye is colour.
(163-164) :
Statements @’
* All squares are triangles.
No triangle is circle.
All circles are rectangles.
163. Conclusions :
I. No rectangle is square.
1I.. All rectangles being square
is a possibility.
164. Conclusions :
I. No square is circle.
1I. Atleast some circles are
squares.
16B. Statements :
No paper is book. .
Some Wooks are libraries.
Conclusions :
I. All libraries being books is
a possibility.
iI. No library is paper.
166 Statements :
All hills are mountains.
. All mounteins are rocks.

»

Conclusions :
I. All those rocks which are
mountains are also hills.
1. All hills are rocks.
Directions (167-173) : Study
the following information to'answer
the given questions:
Eight people viz. A, B, C, D, E, |
F, G and H are sitting in a straight
line facing North. Each one of them
has passed a recruitment exam and
must join the office on different
months viz. January, February,

August but not necessarily in the

‘same order. )

e G sits third to the right of the
person who joins in May. The

* person who joins in August

sits second to the right of G. A
and E are immediate neigh-
bours of each other. Neither A
nor E has joining dates either
in May or August. Neither A
nor E is an lmmedlate neigh-
bour of G.

person whose joining date is
in January. Neither A nor E

. has joining dates in January.
H's joining date is not in Au-
gust.

' Only two people sit between E
and the person whose joining
date is in July. The person
whose joining date is in Feb-
ruary sits to the immediate left
of D. |
Only one person sits betwcen
'E and B. C joins on one of the
months before July. E joins
after April. G joins after A.

167.0n which of the following

months does H join the office?

(1) April {2) June

(3) July (4) February

(5) March g

188. Who amongst the following sits

exactly between E and B ?

(1) The person whose joining
date is im May

(2) The person whose joining
date is in January

3D @A

(5) The person whose joining
date is in August” :

March, April, May, June, July and |.

H sits third to the right of the '

169. ‘H’ is related to ‘July" in a-cer-
tain way based on the above
arrangement. ‘B’ is related to
‘June’ following the same pat-

tern. '___' is related tQ ‘May’
following the same pattern.
(L F (2 G
(31A 4)D
(5)C :

170. Which of the following is true
regarding D ?
(1) Only two people sit to the

left of D

(2) D' is sitting sccond to the’
right of the person whose
joining date is in July

(3)E and B are immediate
neighbours of D

{4) D's joining date is in May

(5) None is true ,

171.Who amongst the following
has joining date in June ?

(1)F (2)E
3G (4)D
(8)C

172. How many people sit between
C and the person whose join-

ing date is in April ?

(1) None (2) One.
(8) Two (4) 'l‘hree
. {5) Four

178.Who amongst the fol]owmg are
sitting at extreme ends of the
line?
(1)A and the person whose
joining date is in August
(2) The person whose joining *
date is in May and E
(3)Cand G
(4) The persons whose joining
dates are in March and
June
_(5) Noneof these ;
Dlrectionl (174-178): In thcse
questions, relationship between dif-
ferent elements is shown in the
statements. The statements are fol-
lowed by two conclusions.
Give answer (1) if only Conclu-
sion [ is true.
Give answer (2) if only Conclu-
sion II is true.
Give answer (3) if cither Con-
clusion I or Il is true.
Give answer (4) if neither Con-
clusion I nor II is true.. .
Give answer (B8) if both Con-
clusions I and II are true.
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174.Statements :
N<O2R>T: R<A:B<T
Conclusions :

I..N<A II. B<A
175.Statements :

C2D=E<F; Y<D2W

Conclusions :

I. C2Y nrF2Y
{(176-177) :

Statements: .

S<T<U2W :T<R:G>U
176. Conclusions :

I. S<G H. W<R
177. Conclusions:

I. RS I.W<G
178.Statements : !

"H2G<I: FSG>Z
Conclusions :
I. F<H I Z<1

Directions (179-180) : Study
the following information and an-
swer the given questions : :

‘PROJECT' is related to
‘CEOPRT', 'PLANE’ is related to
. 'ELNP''and ‘WIN' is related ‘NW'.

179. Following the same pattérn,
‘ORGANISED' will he related
to_____

(1) ADEGOIRS

(2) ADEGIOSR

(3) ADEGIORS

(4) ADEGBORS

(5) Cannot be determined
180. Following the same pattern

‘DISTANCE’ will be related

to____

(1) ACDEINST (2) ACDEINS

(3) ACDINST (4) ACDNSTI

(5) Cannot be determined

Directions (181~183) : Read
the following information carefully
‘and answer the questions which
follow : .

P, Q. R, S, T and V live on dif-
ferent floors in the same building
having six rs numbered one to
six {the ground floor is numbered

.1, the floor above it, number 2 and
so on and the topmost floor is num-
bered 6).

There are two floors between the

floors on which Q and V live. Q lives

on a floor below V's floor. Neither P

nor T lives ori a floor immediately
above or immediately below the
floor an which @ lives. P does not

live on an.odd numbered floor.
There is only one floor between the
floors on which S and T live. T does
not live on a floor immediately above
or immediately below the ﬂoor on
which R lives,

181.0n which of the following |

floors does V live ? -

(1) 4th (2) 3rd
(3) 6th (4) 5th
{5) Cannot be determined

182. Who amongst the following .

_lives on the topmost floor, 1.e.

floor number 6 ?
mT 2)S
(3)R (4P

(5) Either V or P .
183. How many floors are there be-
tween the floors on which R

and T live 7 *

{1) None * (2) One
(3) Two _ {4) Three
(5) Four )

_Directions (184-185) : Four of
the following five are alike in a cer-
tain way and hence form a group.
Which is the one that does not be-
long to the group?

184.(1) Compare (2) Conflict
(3) Distinguish (4) Contrast

(5) Differentiate

185. (1) Recollect {2) Retrieve
(3) Regain (4) Recall
(5) Realise

Directions (186-190) : Study
the following information carefully
and answer the given questions:

A word and number arrange-

ment machine when given an in- |

put line of words and numbers re-
arranges them following a particu-
lar rule in each step. The following
is an {llustration of input and re-
arrangement. (All the numbers are
two digits numbers.)

Input : gate 20 86 just not 71
' for 67 38 bake sun 55
Stepl’” : bake gate 20 just not 71
for 67 38 sun 55 86
Step 11 : for bake gate 20 just not
67 38sun 55 86 71
Step III : gate for bake 20 just not
© 38 sun 558671 67
Step IV : just gate for bake 20 not
38 sun 86 71 67 55
StepV : not just gate for bake

20sun 86 71 67 55 38

sun not qut gale for

bake 86 71 67 55 38 20

and Step VI is the last step ol
the above inpul as the desired ar- °
rangement is reached.

As per the rules followed in the
above steps, find out in each of the
following questions the appropriate
step for the given input.

Input : 31 rise gem 15 92 47 aim
big 25 dbes 56 not 85 63
with moon

186 How many steps will be re-

quired to complete the rear-

Slc’p Vi :

rangement ?
(1) Eight (2) Six
(3) Seven (4) Five

(5) None of these 5
187. Which word /number would be
at 7th position from the' left

in Step IV ?

(3) rise (2) aim
(3) big (4) 15
(5) 47

188. Which step number is the fol-
iowing output ?
rise not moon gem does big

aim 15 with 92 85 63 56 47 31
25

(1) Step V (2) Step Vil
(3) Step IV (4) Step Vil

(5) There is ne such step
189. Which of the following repre-

sents the position of ‘92" in the

Vith step?

{1) Ninth from the left

(2) Fifth from 'the right

(3) Sixth from the right

(4) Ninth from the right

(5) Seventh from the left
190. Which word /number would be

at the 5th position from the

right in the last step ?

(1) gem (2) 63
{3) 56 (4) 85
(5) does

191. Read the following Statement
and answer the question
which follows.

A massive agitation is brew-
ing in State X against the pro-
posed widening of the Na-
tional Highway.

Which of the following repre-
sents an assumption implicil
in the given statement? (An
assumption is something

.Viiit us at
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that is nol directly stated but

is supposed or taken for

granted.)

(1) The agitation is carried out
by local villagers who would
be worst affected by widen-
ing of the highway

(2) Many other States have
much wider highways as
compared to State X

(3) A national highway already
exists in State X -

(4) Commuters are greatly in-
convenienced due to fre-
quent accidents owing to
the narrow highway

(5) For a road to be declared a
highway, a certain width is
essential

Directions (192-195) : Read
the following information and five
statements given below it carefully
and answer the questions which fol-
low.

Steve Jobs himself said it: “It's
smart to take an existing idea and
enhance it beautifully.” Apple did it
and so did some of the most suc-
cessful brands worldwide. To be suc-
cessful, it is not essential to inno-
vate every time. Old stuff in new
packaging helps as well and is of-
ten referred to as ‘imovation’ which
is a combination of innovation and
imitation.

1s' a’

play videos and games at a
fairly reasonable price, thus
capturing the market.
‘Imovation’ i1s a lot less risky
business venture. An imitator
is already equipped with the
analysis of how market re-
ceived the innovation.

Blind imitation of a product can
never be successful and sustain-
able.

Which of the statements num-
bered (4), (B), (C), (D} and (E)
mentioned above proves. the.
above statement most appro-

(E)

192.

priately ?
{1)D (2)B .
3)C (4 E

(5) Both Aand C
193. Which of the statements num-
bered (A}, (B), (C), (D) and (E)
mentioned above represents an
advantage of imitating an ex-
isting product ?
(1)B.
(2) Both B and D
. (3 E :
(4) BothC and B
(5) Both A and D
Which of the statements num-
bered (A), (B), (C), (D) and (E)
mentioned above would con-
tradict the fact that imitation
of products is a successful

194.

“The first ever low-cost . lablel
with a 3 hours baltery which
works only with Wi-Fi for ac-
cessing the internet will be a
game changer for India’s rural
population who have been on
the wrong side of the digital
divide in the country,’ - Stat-
ed Company X, the manufac-
turers of the tablet on their role
in providing access o internet
throughout India.

Which of the following can’ be

assumed/ inferred frorn the

given statement ? (An assump-

tion is something that is not di-

" rectly stated but is supposed or
taken for granted and an infer-
ence is something which is not
directly stated but can be in-

‘ferred from the given facts.)

(1) Wi-Fi connections are ai-
ready available in rural
parts of India

(2) Other tablets did not have
the features such as Wi-Fi
connectivity

(3) Improvement in accessibil-
ity to internet would help
education sector the most

(4) A mere three hour battery
would be grossly insulfi-
cient to maximize its ben-
efits

(A) As an innovation market strategy ? ; - i
standalone product in the (A @c (5) The tablet would not ben-
market, it reaps in all the (3)D @) E efit urban population in
profit till the ‘imovators’ imi- (5) Both B and E India as much as the rural
tate it, ‘Tmovation’, however, is : an population
not profitable as there are 195. Compalr}li;s must_adgsuch ”a’i_; Directions (197-198) : Read
many imitated products in the e B lrd(irsnttate. hproq.u'c the following information carelully
market at the same time, all that not only distinguish thetr imi- d er the questions which fol-

tation but also add to custo SO0 AR 4 :
reducing each other's profits. ?actfon' 4 DCUSIOMET" 1505 ..

(B) Brand X-duplicated Brand Y's satisjaction. ' ; ; ;
mohile phonis with exactly the Which of the statements num- ¢ Sudha-weighs more than

l bered (A) (B) (C) (D) and (E) Bharat and AbhlSth.
same features and same price | - - » \BJ, R )
range but failed to make an mentioned above proves the e Rahul weighs less than only
impact in the market. above statement most appro- ‘Karan. .

(C) No one remembers the inno- priately ? e Parul weighs as much as
vators after some time because (1A Sudha but less than Dana.
they did not turn their idea (2) Both A and B e Abhishek does not weigh the
into success. On the other (3)Both Aand E, minimum.
hand the imitators did what (4) Both A and C . 187. Who amongst the following is
:::ﬁ}; had to just at the right (5) Both B and D the third heaviest 2. .

) . g 196. Read the following statement {1) Karan (2) Rahul

(D) VN&l’gge ;e;r;fzrlsnv??tfvi EO;?;)II: and answer the question which (3) Bharat (4) Dana
which enabled MP3 players to followe; (5) Cannot be determimed
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3.

(1) Subir Vithal Gokarn,(born
October 3,1959) is one of the
four Deputy Governors of the
Reserve Bank of India (equiv-
alent of United States Feder-
al Reservelalong with Anand
Sinha, K C-€hakrabarty and

-H.R. Khan.

(4) India’'s demographics are
favourable to growth..It is a
young country with low depen-
dency ratios.

(8) The scandal has intensi-
fied calls in the country for
greater financial transpar-
ency, corporate governance,
and shareholder activism.

(3) Interationally there is a
general consensus regarding
the inflationary and recession-
ary impact of oil prices.

. (3) The objectives of SEZs : (a)

generation of additional eco-
nomic activity (b) promotion
of exports of goods and_ ser-
vices; (c) promotion of invest-
ment from domestic and for-
eign sources; (d} creation of
¢mployment opportunities; (€)
development of infrastructure
facilities.

. (2) The Gross Domestic Prod-

uct is the total market value
of all final goods and services
produced within the political
boundaries of an economy

- during a given period of time,

10.

11.

12.

usually one year.

{1) The Human Development
Index (HDJ) is a comparative
measure of life expectancy, lit-

_eracy, education and stan- -

dards of living for countries
worldwide.

{3) Economists usually mea-
sure economic growth in terms
of gross domestic product
{GDP) or related indicators.
(1) Agriculture and allied sec-
tors like forestry, logging and
fishing accounted for 15.7%
of the GDP in 2009-10. The
share of Agriculture and allied
sectors in GDP is estimated to
be 14.2% in 2010-2011.

(5) The contribution of the ser-
vices sector to the Indian
economy has been manifold:
a 55.2 per cent share in gross
domestic product (GDP).

s g | (L] sa ol s o2
ok t¥1an Rggul; 85, (1)| 8B.(1)| 87.(3)] 88.(2)
(2) Bharat weighs more than | 8. (] 90.@] 91.(3)] 92.0)
Parul .93" @1 4. 98. (5 96.(3)
{3) No one weighs less than lg;. :‘3 1:: :g; 1(9).; g :g: g;
Bharat 7 d ' o =
(4) Only two people are heavi- | 108. )] 106. (3) | 107. (1)} 108. (5)
er than Karan 100, @) | 110. () | 111. @[ 112. (@)
(5) All are true 118. (1] 114. (5) | 115. (1)} 116. (1)
199. Read the following informa- | [117: (3] 118.(2)] 118. (4) 120. (5)
tion carefully and answer the | |121. (4)] 122. (4) 123. (3)] 124, (2)
question which follows : 126. 2)| 126. (3)[ 127..(4){ 128. (5)
A is the brother of B. B is the 129. (2)| 130. (3)| 181. (1){ 132. (2)
sister of T. T is the mother of 133. (4)| 134. (3)] 138, (2)| 1386. (2)
P. If it is provided that R is 137. (4)] 138. (5) | 139. (4)| 140. (3)
the grandfather of P, how | [141.(4)] 142. (2} 143. (2)] 144. (5)
- would T be related to R ? 148, (1)| 146. 3 | 147. (1)] 148. (3)
(1) Daughter 149, (4)| 180. (3) | 161.(1)] 1582. (5)
(2) Granddaughter 183, (2)| 164. (1) | 185, (4)| 156. (5)
(3) Stster, _ 167. (1)| 188. ()} 180. (5)| 160. (1)
@) Wife 161, (2)| 162. (5 | 163. (4)] 164. (1)
(5) Fa“*;‘ghtef or Daughter-in- | g8, (1)] 166. (5) | 167. (4)| 168. (1)
200.Which of the foliowm_g sym- ::g. g; :;: ::]) :;; g; i;:' :?;
“bols should replace the ques- = é 78: E 79' .
tion mark in the given expres- 177.(5)| 178. (5 | 179. (3}} 180. (5)
sion in order to make the ex- 181. (1)] 182. (4)| 188. (3)| 184. (2)
pression ‘O <K' definitely true | | 185. (5) 186. (1) | 187. (4)] 188. (2)
but ‘M > I' definitely wrong ? 189. (3)| 190. (3) | 181. (1)| 192. (2)
I<JSK?M2N=0 | 1198. (3)] 184. (1) | 198. (5) 1986, (1)
(1)< (2)< 197. (4)| 198. (3) | 198. (5}| 200. (3)
(8)= (4) > '
(5)2 : % EXPLANATIONS ==
1. (3) A country is classified as a
g ANSWERS E Least Developed Country if it
.3 26| 80| 4@ meets three criteria: low-in-
7 come; human resource weak-
:'ﬁ] 1(6)' (2) 1:' 91 e@ ness :(based on indicators of
- (1) | 10.(3) - (1) | 12. (5) nutrition, health, education
13.(5) | 14.(1) | 18.(5) | 16.(3) and adult literacy) and eco-
17.(4) | 18.(1) | 18.(1) | 20. (3) nomic vulnerability (based on
21.(3) | 22.(3) | 23.(2) | 24. 2 2’5‘3"“‘7 ort:\g;'i%ﬂt?ral p:f;—
uction, ins of exports
28.(4) | 36.() |} 27. (1) 28,' (5) of goods and services, eco-
20.(4) | 30.(4) | 31.(5 | 82. (4) nomic importance of non-tra-
33.(1)| 34.(4) | 35.(3) | 38. (3) ditional activities, merchan-
37.(4) | 88. (5) | 39.(5) | 40. (1) dise export concentration,
proy ey o e e A
45.(3) | 46.(1) | 47.(3) | 48. (5) population displaced by natu-
49.(5) | B0.(5) | 51.(4) | 62. () ral disasters).
83.(1) | 54.(1) | 88.(4) | 56. (4) 2. (5) Historical’ ym 2000
87.(2) | 38:(4) | 89.(2) | 60. (3) until 2011, India’s average
coTmoleslen | gy oot
©5.(4 | 00.(2 | 07.14).1 9% B3 torical high of 11.80 percent
i (2). 70.(2) | 71.(5) } 72. (1) in December of 2003 and a
73.(4) | 74.(2) 78. (5) | 76. (5) record low of 1.60 percent in
77.2) | 78.(5) | 78.(3) | 80. (1) December of 2002.
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13.

14.

18.
18.

17.'

18.
19.

{5) Normally, national income
means the total of value of
commodities and services pro-

duced in any country during &

year.

{1) The Central Government,
by rules made by it, was to re-
duce annual fiscal deficit of the
country: and annual targets
for assuming contingent li-
abilities in the form of guar-

.antees and the total liabilities

as a percentage of the GDP.

(5) Green house gases are re-
sponsible for giobal warming.
(3) The Mahatma Gandhi Na-
tional Rural Employment

Guarantee Act (MGNREGA)

was enacted in 2005. "

(4) The Mid-Day Meal Scheme
is the popular name for school
meal programme in India
which started in the 1960s.
(1) Balance of payments

(1) Sustainable development
(SD) is a pattern of growth in

‘which resource use aims .to

meet human needs while pre-

‘serving the environment so

that these needs can be met
not only in the present, but

- also for generations to come

(sometimes taught as ELF-En-

' vironment, Local people, Fu-

21.

ture).

' (3) The JAEA was established

as an autonomous organisa-
tion on 29 July 1957.
(3) Vietnam's oil firm Petro

' Vietnam has signed a deal with

India's ONGC Videsh Limited

‘(OVL), under which OVL will

help in oil exploration and ex-
traction in the South China

" Sea.

22.
'introduced KYC guidelines for

{3} The Reserve Bank of India

" all banks in 2002. In 2004, RBI

directed that all banks ensure
that they are fully compliant
with the KYC provisfons before
December 31, 2005. The pur-
pose was to prevent money
laundering, terrorist financing
and theft.

. {2) Small Industries Develop-

ment Bank of India (SIDBI)

" was established oh April 2,

24.

25.

(2) The need for additional bor-
rowings arises because of the
government’s' burgeoning ex-
penditure in the wake of a
huge subsidy bill and expect-
ed shortfall in receipts.

(4) The etght core industries are
coal, crude oil, natural gas,

_refinery products, fertilizers,

steel, cément and electricity.
These are key infrastructure

286.

27

38

{2) DEPB (Duty Entitlement |.

Pass Book) was an export in-
centive scheme of Indian Gov-
‘ernment provided to Exporters
in India. .

(1) India has started dialogue
with South East Asian nations
such as Brunei, Indonesta,
Australia and Malaysia to im-
port liquefied natural gas
(LNG) to meet the needs of a
host of industries including
power, fertilisers, petrochemi-
cals and steel.

(5) The Coal ministry had giv-
en in-principle approval for
allotment of five coal blocks to
four NTPC thermal power

" plants in Uttar Pradesh, Kar-

3L

nataka, Orissa and Madhya
Pradesh. _

(4) French city, Marseille

(4) The dnternational Monetary
Fund (IMF)} warned of in-
creased risks to stability of the
global economy in recent
months, arguing that a series
of shocks, including the down-
grade of the US credit rating,
has shaken the financial sys-

tem.

(5) The revenue obtained by the
government from sources oth-
er than tax is called Non-Tax

- Revenue.

{4) Monopolies and Restrictive
Trade Practices Act, 1969 (“the
MRTP Act") stands repealed
and is replaced by the Compe-
tition Act, 2002, with effect
from September 1, 2008.

(1) ASHA or Accredited Social
Health Activist.

(4) In economics, utility is a
measure of satisfaction, refer-
ring to the total satisfaction

37.

41.

42,

35. (3) Four deputy govemors arg
K.C. Chakrabarty, Subir
Gokarn, Anand Sinha, and
H.R. Khan.

(3) In order to make TPDS more
focused and targeted towards
this category of population, the
“Antyodaya Anna Yojana”
(AAY) was launched in Decem-
ber, 2000 for one crore poorest
of the poor families.

{4) Self Employed Women's As-
soctation (SEWA) 18 a member -
ship-based organisation' of
poor self-employed women
workers.

. (5) Rice is the main crop in

Eastern States as well as val-
ley areas of the North East.

(5) Launch of MGNREGA and '

availability of employment op-
portunities locally.

. (1) The Competition Act, 2002

was passed by the Parliament
in the year 2002.

(4) Financial exclusion is the
unavailability of banking ser-
vices to people living in poverty.
(5) The Reserve Bank of Indta
is the main monetary author-

" ity of the country.

47.

48.

49.

50.

(1) The ratio_of liquid assets to
demand and time liabilities is
known as Statutory Liquidity
Ratio (SLR}.

{5) An operational risk is, as
the name suggests, a risk aris-
ing from execution of a
company’s business functions.
(3} A new market stabilisation
scheme {MSS) was announced
to take care of the shortage of
govemmcnt securities.

(1) Credit flow for farmers was
raised from Rs. 3,75000 crore to
Rs. 4,75000 crore in 2011-12.
(3) A microfinance institution
(MFI) is an organization that
provides financial services to
the poor.

(5) It has a a corpus of Rs. 500
crore.

(5) A Yojana of Life Insurance.
Corporation, this plan is a
combination of Endowment
Assurance and Whole Life
plans.

(5) Janani Suraksha Yojana

Visit us at
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80. (3) Robert Bruce Zoellick is the

ing proposed by way of modi-
fying the existing National
Maternity Benefit Scheme
(NMBS).

(4) IMF continues to provide
short- and medium-term fiI-
nancial assistance to member
nations that run into tempo-
rary balance of payments dif-

ficulties.

(2) Bank rate, also rererred to
as the discount rate, is the
rate of interest which a cen-
tral bank charges on the loans
and advances that it extends
to commercial banks and
other financial intermediaries.

. (1) Special drawing rights

(SDRs}) are supplementary for-
eign exchange reserve asséts
defined and maintained by the

International Monetary Fund -

(IMF).

(1) The Millennium Develop-
ment Goals (MDGs) are eight
international development
goals that all 193 United Na-
tions member states and at
least 23 international organi-
zations have agreed to achieve
by the year 2015. They include
eradicating extreme poverty,
reducing child mortality rates,
fighting disease epidemics
such as AIDS, and developing
a global partnership for devel—
opment. .

(4) The second bail-out, which

follows the euro 110 billion

rescue funds agreed in May
2011, will cut Greece's debt by
a quarter.,

(4) The Goods and Services
Tax (GST) is a value added tax
to be implemented in India by
April 2012.

(2) India’s Prime Minister,

Manmohan Singh, in 2010,

announced his intention to
expand the country’s Tax In-
formatipn Exchange Agree-
ment (TIEA) network, starting

. with Bahamas and Bermuda.
. (4) The Sardar Sarovar Dam

is a dam on the Narmada River
near Navagam, Gujarat, India.
(2) Lintas India Private Lim-

ited is engaged in outdoor ad- -

vertising, market research etc.

-

eleventh president of the World
Bank, a position he has held
since July 1, 2007.

. (1) In Agriculture, it remains

critical to India and other de-
veloping countries’ collective
interests that the trade-dis-
torting subsidies and protec-
tion provided by a few devel-
oped countries are eliminated
so that a level playing field is
established.

. (8) V Krishnamurthy )
(5) Members of G-8 : Canada.

France, Germany, Italy, Ja-
pan, the United Kingdom, and

the United States and Russia. .
. (3) The Prime Minister said:

“There has been unprec-
edented social and political
upheaval in West Asia, the
Gulf and North Africa. People
of these regions are demand-
ing the right to shape their
own future........

. (4) The Robin Hood tax com-

monly refers to a package of
financial -transaction taxes
(FTT), proposed by a campaign-
ing group of civil society
NGOs.

. (2) The theme of the Approach
Paper to the 12th Five Year '

Plan is faster, sustainable and
more inclusive growth. For the
.first time in the history of the
Five Year Plans the Approach
Paper has a chapter on gover-
nance and corruption.
(2) Energy-starved Bang-
ladesh, in September 2011,
announced discovery of a new
one trillion cubic feet (TCF) gas

'reserve in its northern Rash- |

idpur field.

. (5) World Health Organisa-

tion's first global survey of fine
particle pollutants said US
and Canadian towns are
among cleanest.

. (2) The world's top five central

banks jointly took measures
to offer U.S. dollar liquidity.to
European banks to ease the
dollar shortage. ,

(2) Real time gross settlement
systems (RTGS) are funds
transfer systems where trans-
fer of money or securities
takes place from one bank to

71.

72.

73.

74.

75.

76.

77.
78.

79.

another on a “real time" and
on “gross” basis.

(5) The twelve Federal Reserve
Banks form a major part of the
Federal Reserve System, the
central banking system of the

_United. States.

(1) The Reserve Bank of India
in October 2010 set up a Sub-
Committee of its Central
Board of Directors to study the
issues and concerns in -
microfinance sector, under the
Chairmanship of Shri Y H
Malegam, a senior member on
the Reserve Bank's Central
Board of Directors.

(4) The Comptroller and Au-
ditor General of India (CAG)
has been appointed as exter-
nal ‘auditor of two major UN
organisations, the Vienna-
based International Atomic
Energy Agency (IAEA) and the
Geneva-based World InteHec-
tual Property Organisation
(WIPO).

(2) The SDR was created by the
IMF in 1969 to support the
Bretton Woods fixed exchange
rate system.

(5) Investment in Pakistan 1s
not allowed under the Auto-
matic route.

(5) Indian partrclpants in-
cluded Foreign Secretary

‘Ranjan Mathai, former. For-

eign Secretary Lalit Man
Singh, Sikkim University Vice
Chancellor Dr Mahendra
Lama, former SAARC Secre-
tary General Sheel Kant
Sharma, National Planning
Commission Deputy Chair-
man Montek Singh Ahluwalia,
FICCI President Harsh
Mariwala and some other gov-
emment and non- govemment
professionals.

(2) Rajiv Awas Yojana (RAY)
(5) In the late 1990's, China
became the world’s largest pro-
ducer, consumer, and importer
of chemical fertilizers.

(3) The Desert Development
Programme (DDP) was
launched by the Ministry of
Rural Development, Govern-
ment of India during the year
-1995-96.

Visit us at

www.kiranprakashan.com



MODEL SOLVED PAPER : RBI OFFICER GRADE ‘B’ EXAM

80. (1) Americans Thomas Sargent
and Christopher Sims have
shared the 2011 Nobel prize in
economics for providing ways
to understand the impacts of
Jpoli¢y changes or shocks like
surging oil prices on output,
inflation or employment. .
(4) People give up some qther
forms of consumption to keep
themselves well-fed. -
(1) Food inflation is a signifi-
cantly negative feature of to-
day's economic environment.
(1) A & B only
(2) Financialisation of com-
modities
{1) All the three
(1) All the three
(3) B & C only
(2) Vulnerability to changes
(G 980.(4) D
3 E 92.(5) C
(2)F '
(4) (A) and (B) only .
{5) Either C and (A) or (C) and
(B)
96. (3) (B) and (C) only
97. (1) (C) and (A) only
98. (2) (B) and (A) only
99. (2) which are an outgrowth of
what they imagine
100. (2) does the most important
things to have all elements of
importance in its products
101: (4) has always had a full mea-
sure of a trait .
102, (3) with the performance that
was expected of them
103. (2) to be bright, capable and
making contribution to
104. (4)'gearing
105. (2) forget
106. (3) inflation
107.(1) explosion
108. (5) dominate
1089. (4) cover
110.(1) accelerating

81.
82.

83.
84.

85.
86.
87.
8s.
89.
91.
93,
94.
95.

111.(2) (302‘) +(6—8“

. _
) =224 459
189 19
p :
= (16)2 +(36)% =22+ 459
= 4+ 1296 = ?? + 459
=?2=1300-459 =841

30 5
=89.1
00729 °
113.(1) ( o1 ] +(0.081 x 10)3 x
(0.3 x 3)° = (0.9)™3
= (0.729)° + (0.81)° x (0.3 x 3)®
(0_9)?+3
= (0.9%° = (0.995 x (0.9)°
= (o 9)?*3

- (0.9)9-10»'5 ._.‘(0.9)%3
= (0.9)* = (0.9)"3
= ?7+3=4 =7?=4-3=1

114.(5) /1764 x /2% °
=149.8-112=37.8
=42 x Joo, =37.8

378
= 1’

37.8x 37.8'
42x42

o 37BX378x100
- 42 %42 -

=?2%=

115.(1) 72+ 71
= (?)%-431
= 486 « 343 + 7)1 + 431 = (?)®
=((?P=1331=11° =?7=11
116.(1)
7x+6y+4z=122 S ()
4x+5y+3z=88 .2 (i)
9x+2y+2=78 )
By equation (iii) x 3 - equation
(i1),
27x+ 6y +32=234
4x + Sy+3z= 88

23x+ y= 146

g %
(27) x6+
9

(iV)

().
86x+ 8y +4z=2312
7x + 6y+4z=122

29x+2y =190 _ ..(v)
By equatiaon (iv) x 2 equation
v,

46x+ 2y =292

29x+ 2y =190

-—

17x
= X

=102
=6

... (1v)

By equation (ifi) x 4 -- equation

From equation (ili},
I9x6+2x8+2z=78
=54+16+2=78
=%2=78-70=8
Clearly, x<y=2z

117. (3)
By equation II x 2 - equation
1y
8x+6y=118
7x+6y=110

X =8 )
From equation {I),
7x8+6y=110
=6y=110-56=54
=y=9
From equation (III),
8+z=15 =z=7
Clearly, x<y> z

- 1 1
118. (2] I. x = 4/(36)2 x(1296)3
= '6)( =i»_6
By equation II x 3 - equation I
6y +9z=99
By+5z=71
4z =28 =z=7
From equation II,
2y+3x7=33
' =2y=33- 21 = 12
=>y=6 -
xXsy<z.

119.(4) By equation I x 5 -1l x 8

40x+ 35y = 675
40x+ 48y = 792

-13y =
= y=9
From equation I,
8x+7x9=135
= 8x=135-63=72
ZHN=9 o
From equation III,
9x9+8z=121
=8z=121-81=40

~ 117

=2=5
Clearly.

X=y>z
120.5) 1. (x+ y)® = 1331
=x+y=11 "~
=y=11-x
From equation III,
x(l1-x =28
.= 1ix-x2=28

=x2-11x+28=0
=xX-7x-4x+28=0 ,

From equation (iv), =xx-7)-4x-7)=
= Jgq) =+29 23x6+Yy=146 =x-7(x-4) =
. ‘ =y=146-138=8
Visit us at www.kiranprakashan.com



MODEL SOLVED PAPER : RBI OFFICER GRADE ‘B’ EXAM

=x=7,4
From equation I
y=4,7.
From equation II
7-4+z=0=2z=-3
4-7+2z=0=2z=3
121.(4) The pattern is :
234+12=9
33.422=31
4%4+32=73
5%+42=141

63 +52%2= .

122.(4) The pattern is :
; 35 + 221 =256
256 + {221 - 26). =451
451 + 169 (195 - 26) = 620
620 + 143 (169 - 26) = 763

763 +117 = [ 880

123. (3) The pattern is :
130 +3%2=139
139 +4%2=155
155 + 5% =180
180 +62=216

216 + 72 = [265 |

124. (2) The pattern is :
658 + 72 =730
730+ 144 =874

" 874 +288=1162

1162 + 576 =
125. (2) The pattern is :

14 +990 = 1004

990
10044--—_5— = 1202

198
1202 + ke 1251.5

49.5}
Tac ) * 1268

1268 + 8.25 = | 1276.25
. (126 -130):

" Train-A

Total Passengers = 700

1251.5+ 16.5 ["‘

. 700
General Coaches = B =140

/ Train-B
Total Passengers =910

AC Coaches = 480 - 175 = 305

Sleeper Class =273
First Class = 91
General Coaches = 241
126. (3) Required ratio
=224:273=32:39
127.(4) Required answer
=140 + 305:= 445
128. (5) Required difference
=273 +91-175=189
129. (2) Required percentage
140 + 241 e

. 330+ 281 100
T

= —38—1 %100 = 42
910 .
130. (3) Required amount
=450 x 224 = Rs. 100800
181. (1) Required average monthly
oy o .
' 15000 + 15000 + 30000
= - 3
= Rs. 20000
132.(2) Total menthly salary of all
the five persons in 2008 '
= Rs. 75 thousand
Arvind's total monthly salary
= Rs. 45 thousand
Required percentage
“ 45
=5 x100 = 60%
133. (4) Eearning of each one over
all the years :
Sumit = Rs. 60 thousand
Anile Rs. 40 thousand
i Jyoti = Rs. 75 thousand
Arvind = Rs. 45 thousand
Poonam = Rs. 60 thousand
134. (3) Required percentage
. 25 s 20
= 25 x 100 = 20%
1388. (2)After an increase of 30%
Jyoti's salary in 2010
30x130
100
= Rs. 39 thousand
*186.(2) Required average number of
tigers

137, (4)'Required difference
=235 + 567 - 134 =668
188 {5) Total number of bears in
Sri Lanka =2142
Total number of animals in
China in 1990 = 1102
Required pemcntage
= -1—1—22- 100 =51
2142
189: (4) Total number of animals in
‘" China in 2010 = 1480
Number of remaining animals
1480 x 65 ‘
ST R
140. (3) Total number of lions in
2000.
=1072

= f 1072
s 40

1072x3

4
(141 o 148) H

804 nad

'Female

Male F
A

Female H

»
Male G
Female
F'is the wife of D. .
Bis theson of Dand F..
H is the daughter D and\F«
C is the wife B.
A's brother s E,
141.(4) B is the son of D

 142.(2) H is mother of A, E and G.

H sits second to left of G.
143. (2) One person sits between A.
and his brother E. :
144.(5) A sits exactly between H
and F.
145.(1) E is the brother of A.
146.(3) A is grandson of D.
1475(1) Except B, all othérs are fe-
males.

)

: 700 _280+354+ 433 + 343+ 535 148.(3) H is a female.
- —= 175 X
o Coaches 4 5 H is sister-in-law of C.. ...
Sleeper Class 161 1945 389 H is daughter of D.
First Class = 224 LT H is mother of A.
Vidt us at
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149. (4) It is clear from the statement that the school in Regari is not at
a walkable distance from the village.

(1560-1855) :

s s — st G
reacy -». G Gedy green

[otaden] @) G55 satety

—-—)sﬂver @ ‘

@under - —>‘ blue - @

150. (3) ready = green
1581. (1) silver = safety
152. (5) black = town; ‘pink’ may
be code for ‘risk’.
yellow = in .
183. (2) attack = indigo
154, (1) hidden = white;
weapons =» red
‘orange’ may be code for ‘all’.
188. (4) own = violet

1586. (5) From both the statements

@ P T R S
T sits exactly in the middle of

the line.
_157. (1) From statement I

E
B/C
A
g B/C
E sits to the immediate right
of A. °
From statement II
-
D/E
D/E
B A
158. (4) From both the statements
R>P>T>S
Q

159, (5) From both the statements

[E] [al<[s] (1

' 160. (1) From statement I
D is the uncle of M.
Therefore, Cis the grandmoth-
er M.
From statement II
F is the aunt of S and M.

Therefore, C is the grandfather
of grandmother of M.

The gender of C 1s not clear.
(181—168)
(i) All colours arec varnishes -
Universal Affirmative (A-type).
(ii)) Some colours are paints --
Particular Affirmative (I-type).
(iii) No triangle is circle -
Universal Negative (E-type).
(iv) Some triangles are not circles
— Particular Negative (O-type).

(161 - 162) :

Some paints are colours.

All colours are varnishes.
1 + A = I-type of Conclusion
“Some paints are varnishes.”(P)

All colours are varnishes.

No varmsh is dye.

"A+E = E-type of Conclusion’
“No colour is dye.” (Q)

Some paims are varnishes.

No varnjsh is dye.

I + E = O-type of Conclusion
“Some paints are not dye."” (R)
181. (2) Some paints are varnishes.
Therefore, Conclusion Il is pos-
sible.

182. (5) Conclusion I is Converse of
Conclusion (P). '

Conclusion 11 is Convcrse of.
Conclusion (Q).
(183-164) :

All squares are triangles. -

o

No triangle is circle.

A + E = E-type of Conclusion
“No square is circle.” (P)

No triangleé is circle.

All circles are rectangles.
' E + A= O, -type of Conclusion
“Some rectangles are not
triangles.”(@)

No square is-circle.

All circles are rectangles. -
E + A = O,- -type.of Conclu-
sion
“Some rectangles are not
squares.” (R}

163. (4) None follows.

164.(1) Coneclusion I is converse
of Conclusion (P).

165.(1) No pa;ﬁer is book.

Some baoks are libraries:
E +1= O,- type of Conclusion
“Some nbranes are not papers.”
Conclusion I may be derived
from the second Premise.

166. (5) All hilis are mouritains.

All mountains are rocks.
A + A =» A- type of Conclusion
“All hills are rocks.”
It is Conclusion II.
Conclusion I also follows.
(167-173) :

H-. B

AEC BFG -
" =
&l E- E’w 50
AE e 5 = {g3| #
B |2 2|68 |8
ERERERERE YR
2P 2 n|n|< k-<

167. (4) H joins the office m Febru-

ary. }

168. (1) C sits exactly between E and
B. C joins in May.

169. (1) H is second to the right of

the person who joins in July.
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B is second to the right of the
person who joins in June.

F is second to the right of the
person who joins in May.
170 (2) Seven people sit to the left

of D.
His 1mmediate nelghbour of
D.
D’s joining date is in August
171.(2) E joins in June.
172.(3) G joins in April. There are
two persons between C and G.
178.(1) A and D are sitting at ex-
treme ends of the line.
174.2)N<O>R>T>B ¢
N<O>R<A:A>R>T>B
Conclusions
L. N < A: Not true
II. B<A: True
175.(4)C>D=E<F
C>2D=E>W
Y<D=Eg<F
C>D=E>Y
Conclusions
I.C>Y: Not true
II. F> Y : Not true
(176 -177) :
S<T<U<G
R>T<U>W
G>U>W,S<T<R
176. (1) Conclusions
I.S<G: True
II. W < R : Not true
177.(5) Conclusions
I.R>S: True
II. W< G:True
178.5)H>G>F
F<Gz<l
Z<Gc<l
Conclusions
I.F<H:True
: I.Z<1:True
(179 -180) :
PRO[JECT
The middle letter is deleted
and the remaining letters are
arranged according to the En-
glish alphabeucal series.
Thus, .
CEOPRT
PLAINE=SELNP
W([IJN=NW

179.3) 0 R G A[NJI S E

A DEGI ORS
180.5) DI STANCE
There is no middle letter.

D

(181-183) :

Number| Floor Pe

Fifth Floor

Fourth Floor

Third Floor

Second Floor

First Floor

bl B R S R )

O:ﬁm<-—)v§

Ground Floor

181.(1) V lives on 4th numbered
floor.

182. (4) Plives on the topmost floor.

183. (3) There are two floors.

. 184. (2) ‘Conflict’ is different from

other words.

Compare (Verb) means “to ex-
amine people or things to see
how they are alike .and how
they are different”, “ta judge
one thing and measure it
against another thing".
Conflict (Verb) means “to be
very different,” “to be in oppo-
sition”.

Distinguish (Verb) means “to
recognise the difference be-
tween people or things”.
Contrast (Verb) means “to
compare twg people or things
and show the difference be-
tween them”.

Differentiate (Verb) means “to
see or show that two things
are different.”

185. (5) Recollect (Verb) means “to
be able to remember some-
thing from the past”.

Retrieve (Verb) means “to get
something back™.

Regain (Verb) means “to get
something back again after
losing it".

Recall (Verb) means “to re-
member”.

Realise (Verb) means “to be-

come aware of or accept some-
thing as a fact”.

Thus, ‘Realise’ is different
from other words.

(186-190) : After careful analysis
of the given input and various
steps of rearrangement it is cv-
ident that in-each step one
word and one number are re-
arranged. The words are rear-
ranged from left in alphabeti-
cal order and the numbers are
rearranged from the right in
descending order but in the fi-
nal step the words get rear-
ranged in alphabetical order in
reverse manner the-numbers

appear in descending order.
Input :31 rise gem 15 92 47
aim big 25 does 56 not
85 63 with moon _
raim 31 rise gem 15 47
big 25 does 56 not 85
63 with moon 92 .
:big aim 31 rise gem 15
47 25 does 56 not 63
with moon 92 85
:does big aim 31  rise
gem 15 47 25 56 not
with moon 92 85 63
:gem does big aim 31
rise. 15 47 25 not with
moon 92 85 63 56
:moon gem does big aim
31 rise 15.25 not with
92 85 63 56 47
:not moon gem does big
aim rise 15 25 with' 92
85 63 56 47 31
Step VII:rise not moon gem does
- big aim 15 with 92 85
63 56 47 31 25
Step VIII : with rise not moon
gem does big aim 92 85
63 56 47 31 25 15
186. (1) Eight
187.(4) ‘15" is at the 7th position
from the left in Step IV
188.(2) It is Step VIL
189.(3) '92' is at the sixth position
from the right in Step V1.
190. (3) ‘56’ is at the fifth position
from the right in Step the last
step.
191. (1) Obvioushy option (1) is the
assumption.
192. (2) Statement B
193. (3) Statement E
194.(1) Statement A
195, (5) Statements B and D
1986. (1) Option (1) is an assump-
tion.
(197 - 198) ;.
Sudha > Bharat, Abhishek
Karan > Rahul
Dana > Parul = Sudha
Karan > Rahul > Dana > Parul
= Sudha > Abhishek > Bharat
197.(4) Dana is the third heaviest.
198. (3) Bharat weighs minimum.
199. (5) T is the mother of P.
R is grandfather of P.
Therefore, T is either daugh-
ter or daughter-in-law of R.
200.3)I1<J<K=M>N=0
Now, O < K : Trué
M >1: True

Sgcp 1
Step 11
Step Il
Step IV
Step V

Step VI

aa0

Visit us at

www.kiranprakashan.com {24z |



